DEE TEE MATRIX






DEE TEE MATRIX J I
5 ‘H"—IﬁES]E HANDLES |

ad-H-
e W |||
J 9 ) 3

ACCESSORIES

&

LEVELLING FOOT & CASTORS |

.4

SOP DISPLAY |

Hia




@D

DEE TEE MATRIX

ALUMINIUM PROFILE SYSTEM |
WORK STATION INSPECTION TRBLE ASSEMBLY STATION

F I 1

ENCLOSURE

INSPECTION TABLE (PIPE STRUCTURE) TROLLEY
..

—F

ROLLER CONVEYOR MODULAR CONVEYDR

Admin. Office : Works :
2/202-A1, Devi lllam, Mylampatti, Coimbatore - 641 062 SF. No. 50/1, Site No. 8A, Serayampalayam Road,
¥ 99944 77071 / 94421 15571 Neelambur, Coimbatore - 641 062
62 deeteematrix@gmail.com Tamilnadu, India



Accessories

HamMEr NULS.c.ovaansvmiinsivsssssssssvmsiisesivs v P1-2
T DO susonsonsnsi i s s A DA B DR A A SRS SRS RS SV R ARAR P3-4
MUShroom BOlt.......ccovieeeiieecieeeeee e P5
Elastic Fastener s s isnmemss P6-7
SHdeBlGeK: s e P8-9
123 (11 ATV 1 B o414 o - || ESS——————————————— P10-11
=R S B EATY s cwomsmusssnsemmuomsgimsiessmssmsens P12-13
Profile CONNECLON.....ccouvieeiieeerieecceee e P14
Inner Bracket. i i RS P15-17
INNEREONNEELOT: it P18-19
L BESCKEEY oi vsmavicivsasavsimmsssssmassmismmesossnavsasosovbmasieiiids P20-23
Steerng Corner BraCKet. . oessunsxesnnsunmosssassnnassassnnss P24-25
45 Degree Corner Bracket.......ccccocevieniniicnecsiinecicniennene P26
90 Degree Angle Bracket.........ciciniivanesmessiivasssissssssssssisnse P27
Interval BlOcK .....unnnvuninnnsamnin e P28-29
CONOE: suvisninsmsssuvnsassessiasasasiimsveR s sa R ARPATA TR TS SRNHTRS o P30-33
AR IS AT o ([ USSR P34-35
ZINC HINGC ..ttt P35-37
T SOt B s s R S R T R T s R P38



mailto:deeteematrix@gmail.com
mailto:deeteematrix@gmail.com

Company Profile

Interior Connector Whistle.........ccccceoverveeecverenrrrnenenne. P39-40
BV EEINE o cimsamoovsonivs s omomie oo s 5 N S ROS A R RS AR TR S P41
Profile Hanger......ccooiiiiiiieeicciccccceee e P42
S WaVCOIMEr CONMOCHOR. c.ocrssienssasessissunisssismmmisinnssssssssnss P43
2-Way Corner CoNNECTON. .. imiiiassiiississhaissssssiisess P44
Concealed 3-way Corner Bracket.........cccceeeereceiecneecnnnn. P45
3-Way Corner BrACKET . «:uuvvissmmunassssmivsimsenesmasissins P45
Steering Connecting Plate........ccccoeneeniniinnieniicniincinens P46
Cros5y OMINE Plate i aisisitnmialnssassacaisi P47-48
Aluminum'Base Plate: .. aismssmanisimmimia s P49
EWENER NUBS nrmsmmsmimmamsnismensaisemiemivims P50
)12 1 1< RUP— P51
Socket Head Cap SCreW.....cocuueeecniieeniieeeiieeeccsseeeesneeenns P52
Button Head Cap: SCreW : .. iisinsmssisisiiisimramssiahaiis s P53
Flat Head Socket SCreWV.iaasisaamsmananiskssnizs P54
Adjustable’ Leveling Foot.......ciuiiiisaisisisaiasssiiins P55
Fixed LeVeliNng FOO . amsmassssmvssmsimminssssrsanismsmssis P56
TSIOt Tread SEriP..cvicceieeeieccreeereecre e ecre e e srae e b P57
Eve Bl i S e e R R e P57
Leveling Caster:..... i imemiasaissmss P58-62



mailto:deeteematrix@gmail.com
mailto:deeteematrix@gmail.com

Hammer Nuts

Material : Carbon Steel / Stainless Steel
Surface treatment : Zinc / Nickel Plated

Description Dia Mass/g Part No
6-M3 M3 1.5 16203
6-M4 M4 1.3 16204
6-M5 M5 1 16205

16

7\

N/

o 8
Description Dia Mass/g Part No
8-M3 M3 3.8 16303
8-M4 M4 3.6 16304
8-M5 M5 35 16305
8-M5 M6 3.2 16306

E-mail: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

19.5

JER jé_ )
\\Y) ]
8 —

Description Dia Mass/g Part No
8-M4 M4 5.5 16404
8-M5 M5 5.2 16405
8-M6 M6 4.6 16406

Description

Mass/g

Part No

8-M8

5.5

16408

Description Dia Mass/g Part No
10-M4 M4 8.3 16454
10-M5 M5 7.8 16455
10-M6 M6 7.3 16456
10-M8 M8 7.1 16458

email: deeteematrix@gmail.com



mailto:deeteematrix@gmail.com

T Bolts

T BOLT

Material : Carbon steel
Surface treatment: Zinc / nickel plated

105

// \— 10.5
3 %
L
Description L Mass/g Part No
M5Xx10-20 10 2.9 20106
M5Xx12-20 12 3.4 20126
M5 X 16-20 16 3.9 20166
M5 X 20-20 20 4.3 20206

Description L Mass/g Part No
M6 X 12-30 12 6.3 22212
M6 X 16-30 16 ol 22216
M6 X 20-30 20 7.8 22220
M6 X 25-30 25 8.6 22225

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

T Bolts

Z

Description L Mass/g Part No
M8 X 16-30 16 9.6 22316
M8X20-30 20 10.7 22320
M8 X 25-30 25 11.5 22325

Description L Mass/g Part No
M8 X 16-40 16 10.3 22416
M8 X 20-40 20 11.7 22420
M8 X 25-40 25 133 22425
M8 X 30-40 30 14.7 22430
M8 X 35-40 35 16.4 22435
M8 X 40-40 40 17.8 22440

Description L Mass/g Part No
M8 X 20-45 20 13.2 22520
M8 X 25-45 25 14.6 22525
M8 X 30-45 30 16.1 22530
M8 X 35-45 35 17.4 22535
M8 X 40-45 40 19.1 22540
M8 X 45-45 45 20.7 22545

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Mushroon Bolt

Mushroon Bolt
Material : Zinc-plated Carbon Steel

, 078 -
5] & -
=

S—

=1

—3

:
Description Dia Mass/g Part No
M12 X 30-8 M12 27.2 23008

= 195
Description Dia Mass/g Part No
M12X30-10 M12 27.2 23009

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Elastic Fastener

Elastic Fastener

Material: steel
Surface treatment : Zinc / nickel plated

Description Dia Mass/g Part No
2020 M6 4.2 20201
981
g i
27 _
1 H | 4 13
\SZ2N"/ Py
- : 1
Description Dia Mass/g Part No
3030 M8 5.9 30301

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Elastic Fastener

Description Dia Mass/g Part No
4040 M8 11 40401
012
ol /J" ‘
7 | - |k
\%\ ‘\\.)/N \-}‘I// '
Description Dia Mass/g Part No
4545 M12 14.5 45451

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Material: Carbon Steel / Stainless Steel
Surface treatment : Zinc / nickel

Slide Block

Slide Block

_ 9.5 _
‘ I
S !
g > =\
il I i
ef | f )| -
1 \ / < /
F*:_—.//'?f '-A
- 6
Description Dia Mass/g Part No
6-M4 M4 2.8 28204
6-M5 M5 2.2 28205
6-M6 M6 1.9 28206
-/
I
2l - P © G
' .
|
!

Description Dia Mass/g Part No
8-M4 M4 8.5 28304
8-M5 M5 8.3 28305
8-M6 M6 7.8 28306
8-M8 M8 6.7 28308

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Slide Block

20

|
!
& I m "1’ —
' >
!

Description Dia Mass/g Part No
8-M4 M4 21.2 28404
8-M5 M5 20.6 28405
8-M6 M6 18.7 28406
8-M8 M8 16.6 28408

Rl et

i
= i
R , -
N / @
! ,
10

Description Dia Mass/g Part No
10-M4 M4 21.3 28454
10-M5 M5 20.6 28455
10-M6 M6 20 28456
10-M8 M8 18.4 28458
10-M10 M10 17.9 28451

-—18 5
i
Py '
o ,/'f\’\ ML ] L_.\‘o’
hand A
!
—

Description Dia Mass/g Part No
10-M4 M4 21.3 28104
10-M5 M5 20.6 28105
10-M6 M6 18.7 28106
10-M8 M8 18.4 28108

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Slide Block

Description Dia Mass/g Part No
6-M4 M4 2.2 27204
6-M5 M5 2 27205
6-M6 M6 1.6 27206

Description Dia Mass/g Part No
8-M4 M4 8 27304
8-M5 M5 Tl 27305
8-M6 M6 7.2 27306
8-M8 M8 6.5 27308

S
}/@ 13
—s

Description Dia Mass/g Part No
5-M3 M3 2.3 27253
5-M4 M4 2:1 27254
5-M5 M5 2 27255

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

T-Nut with spring ball
Material: Carbon Steel
Surface treatment : Zinc / nickel plated

£y

T-Nut with spring ball

135

Description Dia Mass/g Part No
6-M4 M4 2.2 27204
6-M5 M5 2 27205
6-M6 M6 1.6 27206

Description Dia Mass/g Part No
8-M4 M4 8 27304
8-M5 M5 77 27305
8-M6 M6 72 27306
8-M8 M8 6.5 27308

Description Dia Mass/g Part No
5-M3 M3 2.3 27253
5-M4 M4 Z:1 27254
5-M5 M5 2 27255

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

T-Nut with spring ball

Description Dia Mass/g Part No
6-M4 M4 5.3 27264
6-M5 M5 49 27265
6-M6 M6 4.8 27266

21
[ ™8 W Ll s i ™ 0
! --ﬁh.-:\t- r g
8
D

Description Dia Mass/g Part No
8-M4 M4 11.3 27404
8-M5 M5 11 27405
8-M6 M6 10.8 27406
8-M8 M8 9.5 27408

22
] -
i ".:\T,.. 2
D

Description Dia Mass/g Part No
10-M4 M4 15.2 27454
10-M5 M5 14.7 27455
10-M6 M6 13.9 27456
10-M8 M8 134 27458

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

L Bracket

L Bracket
Material: Alu-alloy
Color: Silver / Black

3
A o]
20
\4 1
«—2 IS
Size Mass/g Part No
2017 5.5 72017

20
R 45
N | T H A
"Yid i
28 9'5!,‘.4. N H
v‘ Ll - 7’ ‘ L‘- : 1
Size Mass/g PartNo
2020 14 72020

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

L Bracket

2
63 .2
“ | il i ) %
"’? ) \
35 By || |
\
i : F,,
T e e
Size Mass/g Part No
3030 28.3 73030

<« ;; > 5
- | | H 1
40 22: 1_ ) |
v — Cr—=
Size Mass/g Part No
4040 284 74040

Size

4545

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Inner Connector

Material: carbon steel

Surface treatment : Zinc plated

; L 24
:
E 4
= e
Size Mass/g Part No
2020 3 20203

p—
-
-
-
~

Size

Part No

3030

30303

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Profile Connector

-y
A [+ Oy
L o ' " ) 1 :I
\ °
L | L 2
< 20 >
Size Mass/g Part No
30-0 20.5 30800

15 .#’. =
‘ ’ ! 1 v
A7 N 4 |
S L
1 $6.80 © 7’ -
o~ A
8| ! ;
— -~
‘@3 S
v =) <«
- 2 _»
Size Mass/g Part No
30-90 20.5 30890

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Profile Connector

Profile Connector
Material: carbon steel
Surface treatment : Zinc plated

31
12 g —-ﬁjﬁG
25.6
Size Mass/g Part No
4040 14 40403

\; ! |
: : ‘\|‘:|‘|
FELRREERER R RN

Size

Mass/g

Part No

4045

12.8

45453

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Inner Bracket

Inner Bracket
Material: Zinc alloy
Surface treatment : nickel

7
&
=
» 4
Size Mass/g Part No
1515 19.9 15152

Size Mass/g Part No
2040 22 20402

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Inner Bracket

Size

2020

Size Mass/g

3030 28

Size Mass/g Part No
4040 32 40402

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Inner Bracket

2 5
37.5
31 8.5
Size Mass/g Part No
4545 41 45452

17

4.5
37.5
3 741
Size Mass/g Part No
4545 35 45412

email: deeteematrix@gmail.com

09994477071-09442115571


mailto:deeteematrix@gmail.com

Inner Connector
Material : carbon steel

Surface treatment : Zinc plated

| 24
4
°34
Size Mass/g Part No
2020 3 20203

L 27
5
8
Size Mass/g Part No
3030 8.5 30303

email: deeteematrix@gmail.com

09994477071-09442115571


mailto:deeteematrix@gmail.com

12 —-| M6
25.6
Size Mass/g Part No
4040 14 40403

Size

Mass/g

Part No

4045

12.8

45453

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

L Bracket

L Bracket
Material: Alu-alloy
Color : Silver / Black

3
s “_17_211
X ] I
| |e
20 i ¢ v {
| — L
Size Mass/g Part No
2017 5.5 72017

20
< o »> 45
A T H |
ime i
28 95y | | -
v . ; l;f E—
Size Mass/g Part No
2020 14 72020

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

L Bracket

« 2y
6.5 &
s ] [ =
YINA :
35 16y |
¢ H IS
o — ot ¥
v W
Size Mass/g Part No
3030 28.3 73030

<« 91: > s
4 | R f
40 2% 1-'
v — Cr—=
Size Mass/g Part No
4040 28.4 74040

8 &
A -
42‘ yl] L H
" | f lr.wf —
.‘E: ET*‘
Size Mass/g Part No
4545 46 74575

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

L Bracket

18
| T 83
P a4 H
\ s | B '
= 1_.,,‘ | &2
0‘4_3-
Size Mass/g Part No
4545 47 74541

Size

Part No

3060

73060

Size

Mass/g

Part No

4080

75

74080

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

L Bracket

r§_ 21
i 5
¥ |;gz1
-
i_ 88 10
i 28
v ;
88
Size Mass/g Part No
4090 75 74090
-0
- 30 - ii
\
L I el 1
— 8 '
).‘ 8 2T |
‘-.l_ '
58
Size Mass/g Part No
6060 75 76060
A
&1
- 40 - &a
| L - |
e gl Ul
; 79 ad] || |
‘.; ' L
Size Mass/g Part No
8080 167 78080

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Steering Corner Bracket

Steering Corner Bracket
Material: Alu-alloy
Color : Silver

Size Mass/g Part No
2020 14.5 71020

7
30
Size Mass/g Part No
3030 24 71030

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Steering Corner Bracket

9
3
8
30
Size Mass/g Part No
4040 24.6 71040

Size

Mass/g

Part No

4545

38.9

71045

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Interval Block
Material: Plastic

Color : Silver / Black

Interval Block

Size Mass/g Part No
2020 6.8 20204
Size Mass/g Part No

3030 7.4 30304

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Interval Block

Mass/g

10.7

Mass/g
5 §

Size

Viass/g

4545

11.2

email: deeteematrix@gmail.com

09994477071-09442115571


mailto:deeteematrix@gmail.com

Cover

Cover
Material: Plastic
Color : Grey/ Black

Size Mass/g Part No

3030 2.6 30305

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

Cover

Size

Mass/g

Part No

4545

5.3

45455

Size

Part No

2040

20405

Size

Part No

3060

30605

Size

Mass/g

Part No

4080

9.2

40805

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Cover

Size

Mass/g

6060

11.1

Size

Mass/g

8080

19.8

Size

9090

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

5.2

20

20

Size

Mass/g

Part No

R2020

12

20215

30

30

Size

Mass/g

Part No

R3030

32

30315

7.2

40

40

Size

Mass/g

Part No

R4040

S

40415

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Plastic Hinge

Material : Plastic

Color : Black
Size Mass/g Part No
2020 73 20206

Size Mass/g Part No
3030 28 30306

Size Mass/g Part No
4040 39.4 40406

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Hinges

RS
10
Size Mass/g Part No
4545 51 45456

Zinc Hinge
Material : Zinc alloy
Color : Silver / Black

4

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Size Mass/g Part No
3030 76 30317

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

Hinges

oo

Size Mass/g Part No
4040 86 40417

:lf]

s sHEED! T
o)‘- &) 1 25 45
& oy b ey

Size Mass/g Part No
4545 143 45457

Size Mass/g Part No
5050 222 45417

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

T-Slot Bar
Material : Carbon steel
Surface treatment : Zinc plated

M5,
s 100 1 J10
— 8,
% " 1 ’ o' 14 Tt .4'5
0° 30 T2 0 10 '
Size Mass/g Part No
2020 23 20208

M6 _
. 180 . 16
CBO
= T o n o= MR ENT
2 '.6
20 50 T 40 50 20
Size Mass/g Part No
3030 99 30308

M8,
180 T J95
.8.
f — : 1 U | -
* ¥ ¥ ] 3 5’ 095
2077 50 "7 40 "7 50 U207
Size Mass/g Part No
4040 172 40408

M8,
- 180 LY |
Jo,
P ——— Y e " " o { ubnei 55 ™1 :1 05
207 50 g 50 20
Size Mass/g Part No
4545 194 45458

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

T-Slot Bar

Material : Carbon steel

Surface treatment : Zinc plated

&
1
4
Size Mass/g Part No
2020 5T 20209

Size

Mass/g

Part No

3030

6.8

30309

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Hinges

AD
V/
10
15
Size Mass/g Part No
4040 14.1 40409

AD
28
10
<)
Size Mass/g Part No
4545 14.9 45459

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

Handel
Material : Plastic / Zinc alloy
Color : Black / Silver

L1 D
Size A B L1 L2 D Mass/g | Part No
90 37 20 109 90 6.5 26.3 45690
120 41 25 138 120 8.5 40.1 45691
150 44 28 170 150 8.5 72 45692
160 49 28 185 160 8.5 86 45693
180 52 28 200 180 8.5 94.3 45694

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Profile Hanger
Material : Steel & plastic
Color : Silver & Black

TR - 16,
f.’j‘%
N 4.0
[T\l 8
g
|| o p
|1 N
18 LZS_.
Size Mass/g Part No
3030/4040 18.6 45730
N 60 4 16
_ I“t—:"
% Llos
Vs |
~. 485 a1
B4 A =
&
s 2
Size Mass/g Part No
4545 19.8 45731

09994477071-09442115571

email: deeteematrix@gmail.com



mailto:deeteematrix@gmail.com

CONNECTOR

3-Way Corner Connector
Material : Zinc alloy
Color : Silver

6.5

Size Mass/g Part No
2020 32

3030 38

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

CONNECTOR

Size Mass/g Part No
2020 42 26120

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Corner bracket

Concealed3 -way corner bracket
Material : Zinc alloy

Color : Silver
il
{ o=
o
Size A B C Mass/g | PartNo
2020 20 5 4 32 26220
3030 30 8 6 78 26221
4040 40 8 8 181 26222
3 -way corner bracket
Material : Zinc alloy / End caps Nylon
Color : Silver
;?ﬁ:A
Hl
o
|
A
Size A B g Mass/g Part No
2020 18.5 20 6 15 26231
3030 285 30 9 49 26232
4040 385 40 9 112 26233
4545 435 45 12,5 133 26234

email: deeteematrix@gmail.com

09994477071-09442115571



mailto:deeteematrix@gmail.com

3Flange nuts

Material : Carbon steel / Stainless steel
Surface treatment : Nickel plated / Zinc plated

DN

m
Size  [Thread Pitchl m s dc Mass/g | PartNo
M3 0.5 3.7 53 7.8 0.8 29103
M4 0.7 4.4 6.9 9.2 1.0 29104
M5 0.8 4.8 7.8 10.5 1.2 29105
M6 1.0 54 9.8 12.7 2.9 29106
M8 1:25 7.0 12.7 17.0 5.9 29108
M10 15 8.4 13.8 18.7 8.0 29110
M12 1.75 10.7 17.8 234 121 29112

Spring washer
Material : Stainless steel
Surface treatment : Natural

Size h H d dk Mass/g | Part No

M3 0.8 1.92 33 5.1 0.2 31003
M4 1.1 2.52 4.2 6.4 0.3 31004
M5 1.3 2.83 5.3 8.0 0.5 31005
M6 1.6 3.81 6.5 9.8 0.7 31006
M8 2.1 4.63 8.3 13 0.92 31008
M10 2.5 5.82 10.5 15 1zl 31010
M12 3.1 6.92 12.5 18 1.4 31012

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

3 Flange nuts
Material : Carbon steel / Stainless steel
Surface treatment : Nickel plated / Zinc plated

| "B"
- o
, o ‘
1A T T
= | |
‘IEC
Size A B E F Mass/g | Part No

10 80 140 | 51130
17.5 | 100 204 | 51140

3030 | 110 25
4040 | 130 30

wlwlo
el ]

A D
/—\
& ~ A
)
Size A B (& D Mass/g | Part No
3030 S 60 6 2.8 89 51141
4040 86 65 8 2.8 112 51142

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Cross Joining Plate

Cross Joining Plate
Material : Nickel-Plated Carbon Steel

Size A B C D E F G H |Mass/g|Part No
2020 | 55 7.8 17 8.5 6 7.8 20 2 18.6 | 53120
3030 | 85 15 26 13 6.5 20 20 2 47.1 | 53130
4040 | 110 25 36 18 9 25 25 2 82 | 53140
4545 | 140 30 41 20.5 9 30 35 2 108 | 53145

A
& ZF
T e [
; LD
{i}
A
E
@
b |
=
Size A B C D E F G |Mass/g|Part No
2020 | 55 | 17 | 85 | 8 20 6 2 | 168 | 53220
3030 | 85 | 26 | 13 | 20 | 20 | 65 | 2 45 | 53230
4040 | 110 | 36 | 18 | 25 | 35 2 82 | 53240
4545 | 120 | 41 | 205 | 30 | 35 9 2 | 108 | 53245

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Flat Head Socket Screw

Flat Head Socket Screw
Material : Stainless steel / Steel
Surface Treatment : Natural / Nickel Plated / Black

Size t d dk L No
6 46 | 34106
8 49 | 34108
¥ 23— 1D
M3 3 3 10 3 16 62 | 34116
20 71 1 34120
%5 8 34125
30 8. 34130
: 62 | 34208
10 ‘i 34210
12 § 301
2 » )
M6 4 6 12 4 % :.gd.zz 3220
30 125 | 34230
35 137 | 34235
- 34240
45 150 | 34245
10 85 | 34310
1 86 1 34312
16 92 | 34316
30 165 34320
%5 12531355
M8 5 8 16 5 30 13732330
35 152 34335
20 15034340
45 164 | 34345
50 178 | 34350
55 189 | 34355

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Adjustable Leveling Foot

Adjustable Leveling Foot
Material : Nickel - Plated Carbon Steel
Stainless Steel stud with Nylon Base

C
1O
D
Size AlD) B G D E(®) [Maxload/kg| Mass/g | PartN

40-M6 X 50 M6 50 12 50 68 41650
40-M8 X 50 50 85 41850
40-M8 X 80 M8 80 14 60 89 41880
40-M8% 100 100 92 41100
40-M10X 50 40 50 20 92 42150
40-M10 X 80 M10 80 14 70 104 42180
40-M10 X 100 1500 1 %% 421(5)0
40-M12X50 43
40-M12X 100 M12 100 17 90 149 | 43100
50-M8 X 50 1 4415
50-M8X 100 M8 100 14 60 1 3 44100
50-M10x50 Q 44550
IMX0 ! w0 M10 20 14 70 20 4
50-M12 X 50 i 4 ) |
50-M12 X80 M12 17 90 127 4428
50-M12X 100 100 142 447
60-M12 X 50 50 21 45050
60-M12 X 80 M12 80 17 130 130 45080
60-M12 X 100 1 57 45100
60-M16 % 50 60 50 24 132 46150
60-M16 X 80 80 138 46180
60-M16 100 M16 100 22 150 176 | 46100
60-M16 X 150 20 189 : 6 90

j ’ I

CEE N N T 5 | 2 | 47

20202100 %0 Si6 4TI
80-M20100 1 3 110
80-M20 X 150 80 M20 50 2 24 220 362 : 7180

: 4% 150 80 M24 50 25 30 240 13 4 8 3-0—06
100-M16 X 1001 ] 3 481
100 MI6 X150 M16 150 2 220 349 | 48150
100-M20 X 100; 100 447 48200
0oMox150 0 M20 ng 30 24 240 2,35 4 52?8
1100-M24 X 100 ] 484
100-M24 X 150! M24 15 30 260 603 :181‘%0
80-M8 X 50 1 121
30 M8 X 80 80 M8 8 20 15 150 ) 48427

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

Flat Head Socket Screw

Flat Head Socket Screw
Material: Stainless steel / Steel
Surface Treatment: Natural / Nickel Plated / Black

Size t d dk L
6 46 | 34106
8 4.9 34108
‘Lg g% 32 :L Lg
M5 3 3 10 3 16 6.2 34116
20 71 34120
%5 8 34125
30 8.6 34130
8 62 | 3408
12 8 3421%
e
M6 4 6 12 4 5 ot
30 125 | 34230
35 137 | 3423
40 152 42
25 15.0 4
10 8 34310
12 86 | 343D
16 92 34316
20 102 | 34320
% 125 | 34325
M8 5 8 16 5 30 137134330
35 157 | 34335
0 15034340
45 164 | 34345
50 178 | 34350
55 189 | 34355

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Adjustable Leveling

Adjustable Leveling Foot

Material: Nickel - Plated Carbon Steel
Stainless Steel Stud with Nylon Base

C
D
Size AlD) B C D E(®) Max Load/kg| Mass/g Part No

40-M6 X 50 M6 50 12 50 68 41650
40-M8 X 50 50 85 41850
40-M8 X 80 M8 80 14 60 89 41880
40-M8 % 100 100 92 41100
40-M10 % 50 40 50 20 92 42150
40-M10X 80 M10 80 14 70 104 42180
:g-mgx égo 150 15 33190

M12X v
40-M12X 100 M12 100 17 90 149 | 43100
50-M8 % 50 5 7 44150
50-M8 100 M8 14 60 2 4 ‘Qﬂi:'—
50-M10 x50 50 ¢ 44
S0-M10X 80 50 M10 20 14 70 - AAER0
50-M12 X 50 4425
50-M12 X80 M12 17 90 27 44280
50-M12 % 100 100 42 44290
60-M12 X 50 50 121 45050
60-M12 X 80 M12 80 17 130 130 45080
60-M12 X 100 100 57 5100
60-M16 % 50 60 50 24 132 46150
60-M16 X 80 80 138 46180
60-M16 % 100 M16 100 2 150 176 4 6.L‘JO
60-M16% 150 0 189 46190

3 x 4

x 80 M16 25 2 200 L

i h e
80-M20x100 100 471
8020150 50 M20 [—gg 2 24 220 302 ¢ 7:?:

:MZ 4% 150 80 M24 3 20 25 30 240 5 .4: V. ; 2 91
100-M16 % 100 ] 32 481
00 MI6 X150 M16 50 2 220 349 | 48150
100-M20 X 100} 100 447 48200
00M20x150 0 M20 .ng 30 24 240 4971 g?ig
100-M24 X 100 484
100-M24 X 150 M24 50 30 260 ?09 fﬂ 34 %0
80-M8X 50 . ;
30-M8 X 80 80 M8 80 20 15 150 ; V¥,

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

Fixed Leveling Foot

Fixed Leveling Foot
Material: Material Nickel
Zinc-Plated Carbon Steel Stud with Nylon base

: C
_ El | ((©©
| D
A
Size Al®) B 5% 2D5 E{®) Max Load/kg Msa_?s{g F;_’ L
40-M8 X 50 2

Fagaxgp |40 o 8 25 13 100 70 | 514
F40-M10X50 76 514
Fa0-M10x80 | 40 M10 25 17 100 : 514]
F40-M10 % 100! 10f 02 51415
F40-M12%50 | 50 108.4 51416
F40-M12 X 100 40 M12 100 25 19 100 113.7 51417
FA0-M12X 120 120 6 21418
F50-M8 X 50 1419 |
[F50-M8x 80 50 M8 3'8 5 13 150 13.6 g" 420
F50-M10X 50 50 84 51421
F50-M10 X 80 50 M10 80 25 17 150 99 51422
F50-M12 %50 i |4
[F50-M12 X80 50 M12 25 19 150 g:.f
| 50 T AT
FS50-M14 X 80
F50-M14 X 100 60 M14 0 27 22 200 149 51427
F60-M16X 10 00 ] 5147
F60-M16X12 60 M16 20 27 24 200 9& 51429
F60-M16X 50 ] 51430
F80-M16 X 100 M16 100 189 51431
Fs0-M16x1200 80 M18 120 28 24 250 195 51432
F80-M16 % 150) m%g 150 209 214 : 3
wx -
m 100 M20 30 30 300 _%gii_
3 X M24 256 51436

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

T-Slot Tread Strip

T-Slot Tread Strip
Material - Soft Rubber
Color: Black (Slot4/6/8/10), Blue (Slot 4/6/8/10)
Gray (Slot 4/6/8/10) Silver(Slot 6/8/10)
Green (Slot 6/8), Red (Slot 6/8), Orange (Slot 6/8)

09994477071-09442115571

email: deeteematrix@gmail.com


mailto:deeteematrix@gmail.com

Leveling Caster

GD-40S o
Mix1.25 TAP
DEPYH&N{’I‘!:)@ @
. ! ®
ez --H-4-®--NFE| %
§| = , g2 ®
)
R s . 51129
GD 4OF 4-O65("/47) HOLES@ 30(1~’nn')| 33(15e7)

o o7 - e
m____@_k =
3| £ 5 = o
= = FOOTIMESTER
. 3 :

(O

{4
O
10 é‘hzl

49(12')32")
63(25/327) A ]
84(3%)167)
Material :
Model |Q)Carbon steel stamping @Aluminum alloy (3MC Nylon
@NBR (GMCNylon  ®Surface treatment : Spraying & Galvanizing
Load Wheel Overall | Adjustable
GD-40S | '0dMpcs | capacity/pc | Diameter Bolt Size Height range Mass/kg Part No
100 kg 50kg 42 mm M8x10 71mm 10mm 035 91040
Plate
Size of
|Racommended Load Wheel Hole Qverall Adjustable partNo
GD-40F load/dpes | capacity/pc | Diameter Plate Height range ¥
Centers
100 kg 50kg 42 mm 4949 63x63 T1mm 10 mm 035 91041

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

Leveling Caster

GD-60S D
M12x1 25 TAP
DEPTH MIN 104%)@ @
= I ol ~ @
A ; LR R ®
GD-60F 4-@7(5/37°) HOLES & 61120
\ + @ ’i; 36(17he) o
RS > -
FOOT MESTER| =
;' ; L I | - - 1 - =
| 2
&
e | Q) 8
| 58(251¢7) |
73(27i&")
101(4°)
Material :
Model | Carbon steel stamping @Aluminum alloy (3MC Nylon
@NBR  ®MCNylon  ®Surface treatment : Spraying & Galvanizing
Recommended Load Wheel Overall Adjustable
Bolt Size . Mass/kg PartNo
GD-60S load/4pcs capacity/pc Diameter Height range
500kg 250kg 50 mm M12x15 B2 mm 10mm 0.7 91042
Plate y
Recommended|  Load Wheel e Overall | Adjustable
load/dpcs | capacity/pc | Diameter o Plate Height range Massfhg Partho
GD-60F .
500 kg 250 kg 50 mm 5858 TIXT73 782mm 10mm 0.7 91043

09994477071-09442115571

email: deeteematrix@gmail.com



mailto:deeteematrix@gmail.com

Leveling Caster

GD-80S
M12x1 75 TAP

N\ DEPTH MIN 10(%2 ) ®

o DN

SN

65(2°9M5")
D58(3Vaz")

GD-80F
a-@ai' /) nou;s© . 77 531 )
|rau|ﬂuuu| = 4 7
- . n -J T : _;
I HE
10124 ) &
O2{3% ")
125(4° %' | £
Material :
Model |(Carbon steel stamping @Aluminum alloy (3MC Nylon
@NBR  (GMCNylon  ®Surface treatment : Spraying & Galvanizing
Recommended Load Wheel Overall Adjustable
GD-80S load/4pcs | capacity/pc |  Diameter Bolk Skze Height range Massiig Fatho
1000 kg 500kg 63mm M12x15 102 mm I5mm 13 91044
Plate
Recommended|  Load Wheel oke - Overll | Adjustable
Centers
1000 kg 500 kg 63mm TOX70 90X 90 102mm 15mm 13 91045

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

Leveling Caster

GD-100S

M16x2.0 TAP

\ DEPTH MIN. 14(%1¢) @

® e e e 06

®98(37 /8"

65(2%8')

&
—

GD-100F z -
4-@9(7 /6 ) H @ =
4
i 3
= :‘é ;
-
142 5(5%°)
Material :
Model |MCarbon steel stamping @Aluminum alloy (3MC Nylon
@NBR ®GMCNylon ®Surface treatment : Spraying & Galvanizing
mendedl Load Wheel Overall Adjustable
GD-100S dA4pes | copacitype | Diameter Bok Skze Height range MM [ e
1500kg T50 kg Smm M16X20 120 mm 12mm L75 91046
Plate
|Recommended Load Wheel Hole - Overall Adjustable
GD-100F!| 'oxpcs | capacityfpe | - Diameter Plate Height range MEGYE 1 [ Entha
Centers
1500 kg 750 kg 75Smm 70X70 92x92 120 mm 12mm L75 91047

email: deeteematrix@gmail.com 09994477071-09442115571


mailto:deeteematrix@gmail.com

Leveling Caster

GD-120F 89

Material :
Model |@Carbon steel stamping ~ @Aluminum alloy ~ @MC Nylon
@NBR (SSurface treatment : Spraying & Galvanizing
Plate
|Recommended Load Wheel Hole Sack Overall Adjustable
GD-120F] | Ssiseec{Featite | S oahe e | Heght | e | Messie Pl
Centers
2000 kg 1000 kg Smm T0X70 9595 120 mm 12mm L13 91048

email: deeteematrix@gmail.com 09994477071-09442115571



mailto:deeteematrix@gmail.com

	Page 1
	Page 2
	Page 3
	Page 4
	T BOLT
	Mushroon Bolt
	Elastic Fastener
	Slide Block
	T-Nut with spring ball
	L Bracket
	Inner Connector
	Profile Connector
	Inner Bracket

